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]/ — F: Cold, Flu, Malaria, ./ — F: Fever
Qmataria = P(—fever|—cold, —=flu, malaria) = 0.1
driu = P(—~fever|—cold, flu, ~malaria) = 0.2

Gcoia = P(—fever|cold, - flu, =malaria) = 0.6

Pyixy X0 = || 4
{j:Xx=1}

P(ylle""Xn) =1- P(_'ylle""Xn)
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Cold Flu Malaria P(—fever) P(fever)

0 0 0 1.0 0.0

0 0 1 0.1 0.9

0 1 0 0.2 0.8

0 1 1 0.02=0.2x0.1 0.98

1 0 0 0.6 0.4

1 0 1 0.06 =0.6 x0.1 0.94

1 1 0 0.12 =0.6 x 0.2 0.88

1 1 1 0.012=0.6x0.2x0.1 | 0.988
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RIBRERLT I Subsidy(BIRLE), Buys(BEA)
EHHERLETH Harvest (INFEE), Cost(flitg)
OBMZER L EREHICHT I EREHDOEERS M
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P(c|h, subsidy) = N(a;h + b, 6?)(c) =
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P(c|h, ~subsidy) = N(ash + by, a?)(c) = e_f(T)
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P(Burglary|JohnCalls = true, MaryCalls = true)

P(=blj,m) P(blj,m)

0.716 0.284
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P(X|ey, -, ep) =aP(X,eq,,ep) =« Z P(X,eq, e, Y1, Y)
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P(Burglary|JohnCalls = 1, MaryCalls = 1)

P(Blj,m) = aP(B,j,m) = a ) > P(B,j,m,E,4)
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P(blj,m) =a ) > P(b)P(EYP(Alb, EYP(j|4)P(ml4)
A

E

— aP(b) 2 P(E) 2 P(A|b, EYP(j|A)P(m|A)
E A

= aP(b){P(e)(P(alb, e)P(jla)P(m|a) + P(—alb, e)P(j|—|a)P(m|—|a))
+ P(—=e)(P(alb,=e)P(jla)P(m|a) + P(—|a|b,—|e)P(j|—|a)P(m|—|a))}
= 0.001 x (0.002 x (0.95 x 0.90 x 0.70 + 0.05 x 0.05 x 0.01) + 0.998
X (0.94 x 0.90 x 0.70 + 0.06 x 0.05 x 0.01)) = ¢0.00059224

RFRICP(=b|j,m)ERDH D
P(=blj,m) = @0.00149191
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P(=blj,m) P(blj,m)

0.716 0.284
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